17176014.istQa

Fri Jun 24 06:44:56 2016



Entries 254736 IEntries 254736|

I The number of RawHits vs. sensor ID I I The number of hits vs. sensor ID I

J4 J4
T12 10° £120
g S
Z10 2100
° E 102
3 > ]
g 102 80
2
60
10
1

100 120 140 20 40 60 80 100 120 140
Sensor ID Sensor ID

Entries 1229460 IEntries 1229460 |
3 ADC of raw hits at time bin 1 vs. channel geometry ID
x10 I—I

20 40 60 80

3 ADC of raw hits at time bin 0 vs. channel geometry ID
x10 I—I

2 4 2 4
T £
z35 zZ35
hd hd
© o
o 3 102 O
N [a)
< 2.5f < 2.5
2
1.5k 10 1.5f
05 0.5F
3 d b . & % . g‘ d
0 20 40 60 80 100 0 20 40 80 80 100
Channel ID Channel ID



ADC of Raw Hits

ADC of Raw Hits

I Entries 1229460 l

ADC of raw hits at time bin 2 vs. channel geometry ID ADC of raw hits at time bin 3 vs. channel geometry ID

><1O3

><103
4

ADC of Raw Hits

20 40 60 80 100
Channel ID

3 I ADC of raw hits at time bin 4 vs. channel geometry ID I 3 I ADC of raw hits at time bin 5 vs. channel geometry ID I

X
[N
o

X
=
o

M
80 100

Channel ID

Page 3

M
80 100

C 1 T r 1
35F - % 3.5F 3
L . [n'd L .
o . s F :
3F r o 3SF r
o ] o k :
25F = < osf =
2F - 2F 3
1.5F = 1.5F =
' . iE .
0.5F - 0.5F -
E » 1«10 o: » 1103

Channel ID



ADC of Raw Hits

ADC of Raw Hits

3.5

2.5

15

0.5

3 ADC of raw hits at time bin 6 vs. channel geometry ID

11X
[N
1.

3.5

2.5

15

0.5

20 40 60 80 100
Channel ID

3 ADC of raw hits at time bin 8 vs. channel geometry ID
x10 I—I

1

20 40 60 80 100

Channel ID

Entries 1229460

x10

Entries 1229460

x10

ADC of Raw Hits

RMS noise of Raw Hits

3.5

2.5

15

0.5

60

50

40

30

20

10

IEntries 1229460 l

3 ADC of raw hits at time bin 7 vs. channel geometry ID

Ll R
[N
j.

20 40 60 80 100
Channel ID

x10

IEmries 1229460 |

I RMS noise of raw hits vs. channel geometry ID I

80 100
Channel ID

20 40 60

Page 4

108

10

10

= w



ADC of Hits

Max Time Bin Index

x10% |LADC of hits vs. sensor ID
" = SE S Ry 2 = =

3.5k
10?
2.5
1.5 10
0.5}
m-mnﬁ.m . 1
40 60 80 100 120 140
Sensor ID
I Max time bin of raw hits vs group IDI
10*
10°

0 10 20 30 40 50 60 70
Group ID [12*(RDO-1)+2*ARM+GROUP]

Entries 1076894

10?

10

RMS noise of Hits

Max Time Bin Index

60

50

40

30

20

10

I Entries 1076894 |

I RMS noise of hits vs. sensor ID l

- 10°
3 102
10
0:...|...|...|...|...|...|...| 1
20 40 60 80 100 120 140
Sensor ID
IEntries 1229460|
I Max time bin of raw hits vs APV ID I
9
3
8 10
7
6
102
5
E VDL O
3 i \H -
2
\I\
.“HII LAV IE
O \I\ 1

0 100 200 300 400 500 600 700 800
APV ID [144*(RDO-1)+24*ARM+APV]

Page 5



Max Time Bin Index

Cluster Size in Z of Hits

20
18
16
14

IEntries 1076894 l

IMax time bin of hits vs. sensor ID|

60

80

100 120 140
Sensor ID

IEntries 1076894 |

Cluster size in Z of hits vs. sensor ID

40

60

80

100 120 140
Sensor ID

102

1

Cluster Size of Hits

Cluster Size in r-@of hits

I Entries 1076894 l

I Cluster size of hits vs. sensor ID l

20

8
6
4
2
0

20 40 60 80 100 120 140
Sensor ID

I Entries 1076894 |

I Cluster size in r-@of hits vs. sensor ID I

20
18
16
14
12

10 10?

10

S N B~ O @

20 40 60 80 100 120 140

Sensor ID

Page 6



Columnin Z

Global Y [cm]

02 04 06 08 1 12 14
Row in r-¢@

I Entries 1076894 |

| IST hit map in r-phi vs. Z |

10

W

I Entries 1076894 |

| Global X vs. Global Y |

15
[ — M,
C J——
1| ~ N\ 10°
5 ,-"f \
5 -
102
0 5
-5 J'\
: 10
-10F \ e
: \\ 7
L _—
T L T 1
Global X [cm]

Ladder ID

Global Z [cm]

I Entries 1076894 |

IST hit map in APV geometry Id vs. ladder

10 15 20 25 30 35
APV geometry ID

I Entries 1076894 |

| Global @vs. Global Z |
AR LR L AR R

102

Global ¢[rad.]



Row

<rawhits>

60

50

40

30

20

10

10§

IEntries 6512 |

Raw Hit column vs. row: Ladder 1 Sensor 1

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 1 Sensor 1I

4

5

6

4102
7 8 9 10

EventID (Time)

60

Mean Row

50

40

30

20

10

Row

IEntries 5580 |

Hit mean column vs. mean row: Ladder 1 Sensor 1

107t

Mean Column

IEntries 9013 |

Raw Hit column vs. row: Ladder 1 Sensor 2

Column



1769

Entries

7870

Entries

. 3
x10
7637

9 10

8
EventID (Time)

Entries

Number of raw hits vs. EventID: Ladder 1 Sensor 2

<suymes>

10
10‘1
8126

Entries

A e R d [
o hohal h

Mean Column

Hit mean column vs. mean row: Ladder 1 Sensor 2

o o o o
< ™ N

_E"__"______ b ;_

0
o

MOY UeaN

Hit mean column vs. mean row: Ladder 1 Sensor 3

Raw Hit column vs. row: Ladder 1 Sensor 3

-

moy

o

ues|y

10

e

| -_-Lmr

b A5

_,__ Al

r _H___u_a

o
< 3

fi

¥

ly

Mean Column

Column

Page 9



<rawhits>

Mean Row

60

50

40

30

20

10

IEntries 1769 l

INumber of raw hits vs. EventID: Ladder 1 Sensor 3I

5

6

><103
7 8 9 10

EventID (Time)

IEntries 5771|

Hit mean column vs. mean row: Ladder 1 Sensor 4

I
I
—
*-
LD |
e
_—

il

o

Mean Column

Row

60

50

40

30

20

10

IEntries 6103 l

I Raw Hit column vs. row: Ladder 1 Sensor 4 I

<rawhits>

108

AL B W

1.

107t

10 12
Column

IEntries 1769 |

5

6

INumber of raw hits vs. EventID: Ladder 1 Sensor 4I

1x10°
7 8 9 10

EventID (Time)



IEntries 5613 |

I Raw Hit column vs. row: Ladder 1 Sensor 5 I

Row

|_\
o
Mean Row

107t

10 12

Column

IEntries 1769 |

INumher of raw hits vs. EventID: Ladder 1 Sensor 5I

<rawhits>
Row

10§

1x10°
7 8 9 10

EventID (Time)

0 3 4 5 6

IEntries 5075 |

IHit mean column vs. mean row: Ladder 1 Sensor SI

60 10

50
40
30
20

107t

10 12
Mean Column

IEntries 8210 |

I Raw Hit column vs. row: Ladder 1 Sensor 6 I

102

10

e e o e ey 1
4 6 8 10 12

Column




Mean Row

Row

60

50

40

30

20

10

Entries 7467 IEntries 1769 l
IHlt mean column vs. mean row: Ladder 1 Sensor 6I INumber of raw hits vs. EventID: Ladder 1 Sensor 6I

A .
3 = -
10 = ]
g
\Y -
102 | E
10 ]
1 =
I h
PRI 1 Ix10°
4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Entries 7945 IEntries 6792 |
I Raw Hit column vs. row: Ladder 2 Sensor 1 I IHil mean column vs. mean row: Ladder 2 Sensor 1I

-

[e]

o

[y

©

()

=

=110

PR T T DU U T U T TN NN T N T
4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

INumber of raw hits vs. EventID: Ladder 2 Sensor 1I

2 3 4 5 6 7 8
EventID (Time)

IEntries 7767 |

><1O3

9 10

Hit mean column vs. mean row: Ladder 2 Sensor 2

Mean Column

IEntries 8722 I

Raw Hit column vs. row: Ladder 2 Sensor 2

% I
SO me—— —
40 —= —
_— __ __ 1
30 —_—— | _— I
—_ 10—1

<rawhits>

10§

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 2 Sensor 2I

'><103
5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

IEntries 9859 |

Raw Hit column vs. row: Ladder 2 Sensor 3

i

10

107t

g

10 12

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 2 Sensor 3I

0 3 4

5

6

'><103
7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 8781|

Hit mean column vs. mean row: Ladder 2 Sensor 3

60
10

50

40

i
\ I‘I

N
o

107t

2 4 6 8 10 12
Mean Column

IEntries 9778 |

Raw Hit column vs. row: Ladder 2 Sensor 4

Column



Mean Row

Row

IEntries 8947 |

Hit mean column vs. mean row: Ladder 2 Sensor 4

Mean Column

IEntries 8665 |

Raw Hit column vs. row: Ladder 2 Sensor 5

IIIJII |+

y

1

,

"L

Column

107t

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 2 Sensor 4I

<rawhits>

10

0 1. 2 3 4 5 6 7 8

EventID (Time)

IEntries 7820 |

><103

9 10

Hit mean column vs. mean row: Ladder 2 Sensor 5

Mean Row
II|I
II‘
1 1}
i

I

T

I; ||: III ‘ I

- a—

)

=
o

"

Mean Column
Page 15

10

107t



<rawhits>

Mean Row

IEntries 1769 l IEntries 6326 l
INumber of raw hits vs. EventID: Ladder 2 Sensor SI I Raw Hit column vs. row: Ladder 2 Sensor 6 I

'><103
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

IEntries 5464 | IEntries 1769 |
INumber of raw hits vs. EventID: Ladder 2 Sensor 6I

Hit mean column vs. mean row: Ladder 2 Sensor 6

N
b .
] © i

] Y
b 10§ E
=k '
. 1 .
107 ]

.x103

0 5 6 7 8 9 10
Mean Column EventID (Time)



IEntries 7736 |

Raw Hit column vs. row: Ladder 3 Sensor 1

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 3 Sensor 1I

<rawhits>

10

4102
7 8 9 10

EventID (Time)

4 5 6

IEntries 6618 |

IHit mean column vs. mean row: Ladder 3 Sensor 1I

Mean Row

10
Mean Column

IEntries 9023 |

Raw Hit column vs. row: Ladder 3 Sensor 2

Row

Column



Mean Row

Row

IEntries 7893 |

Hit mean column vs. mean row: Ladder 3 Sensor 2

Mean Column

IEntries 8297 |

I Raw Hit column vs. row: Ladder 3 Sensor 3 I

10

107t

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 3 Sensor 2I

<rawhits>
1 1 2 1 00 ll

4102
7 8 9 10

EventID (Time)

IEntries 7358 |

0 1 2 3 4 5 6

IHit mean column vs. mean row: Ladder 3 Sensor 3I

Mean Row

Mean Column



<rawhits>

Mean Row

IEntries 1769 I IEntries 9947 I
INumber of raw hits vs. EventID: Ladder 3 Sensor 3I I Raw Hit column vs. row: Ladder 3 Sensor 4 I

S
- @ 60
10
50
§ 40
] 1
i 30
E 20
; 107t
I 10
.x103
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 8891| IEntries 1769 |
INumber of raw hits vs. EventID: Ladder 3 Sensor 4I

Hit mean column vs. mean row: Ladder 3 Sensor 4

_—_- — — ——— é
| | 1 %

— =— — \V; "

== — 10 E

—_— = mm ]

— — = 1 -

fom— = || - ]

- +-_ _‘ i
N Jx10°

10 0 5 6 7 8 9 10
Mean Column EventID (Time)



7847

Entries

8978

Entries

Hit mean column vs. mean row: Ladder 3 Sensor 5

Raw Hit column vs. row: Ladder 3 Sensor 5

MOY UeaN

o

_:__ﬂ;

Mean Column

___ i ,”

o o
N —

_ _ __7_ _a;_

_2

Column

7627

Entries

1769

Entries

107t

o
—

== rﬁ_____-_ 7 ____

____"___ ___ ____ ! 7_ _T

Raw Hit column vs. row: Ladder 3 Sensor 6

gL

o
<

60
50
30
10

moy

4102
9 10

EventID (Time)

Number of raw hits vs. EventID: Ladder 3 Sensor 5

<slymes>

Column

Page 20



Mean Row

Row

IEntries 653l| IEntries 1769 |

Hit mean column vs. mean row: Ladder 3 Sensor 6

INumber of raw hits vs. EventID: Ladder 3 Sensor GI

A =
[ -
=
é -
S -
\Y
10 |' =
1 -
- 3
x10
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 8106 | IEntries 6890 |
Raw Hit column vs. row: Ladder 4 Sensor 1 Hit mean column vs. mean row: Ladder 4 Sensor 1

10

Mean Row

107t

Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

INumber of raw hits vs. EventID: Ladder 4 Sensor 1I

Row

2 3 4 5 6 7 8 9 10

EventID (Time)

><1O3

IEntries 7784 |

Hit mean column vs. mean row: Ladder 4 Sensor 2

Mean Column

<rawhits>

10

IEntries 8954 I

Raw Hit column vs. row: Ladder 4 Sensor 2

:'

II II ‘ IIl

10 12
Column

I1o

=

-
o
AN

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 4 Sensor 2I

5

6

><103

7 8 9 10

EventID (Time)



Row

e

<rawhits>

IEntries 9696 |

IEntries 8583 |

Raw Hit column vs. row: Ladder 4 Sensor 3

o

i

I|r||

i

10

12

Column

IEntries 1769 |

Hit mean column vs. mean row: Ladder 4 Sensor 3

10

Mean Row

107%

Mean Column

IEntries 9794 |

INumber of raw hits vs. EventID: Ladder 4 Sensor 3I

4 5 6 7 8

Raw Hit column vs. row: Ladder 4 Sensor 4

Row

10

107

9 10

EventID (Time)

><103

Column



Mean Row

Row

IEntries 8779 l

Hit mean column vs. mean row: Ladder 4 Sensor 4

Mean Column

IEmries 8956 |

I Raw Hit column vs. row: Ladder 4 Sensor 5 I

12
Column

<rawhits>

10

Mean Row

IEntries 1769 l

INumber of raw hits vs. EventID: Ladder 4 Sensor 4I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEmries 7863 |

IHit mean column vs. mean row: Ladder 4 Sensor 5I

4 6 8 10 12
Mean Column



<rawhits>

Mean Row

IEntries 1769 l

INumber of raw hits vs. EventID: Ladder 4 Sensor SI

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 6661|

Hit mean column vs. mean row: Ladder 4 Sensor 6

Mean Column

<rawhits>

10 |

IEntries 781l|

Raw Hit column vs. row: Ladder 4 Sensor 6

i

)

I

i

10 12
Column

IEntries 1769 |

5

6

INumber of raw hits vs. EventID: Ladder 4 Sensor 6I

4102
7 8 9 10

EventID (Time)



6733

Entries

7913

Entries

Hit mean column vs. mean row: Ladder 5 Sensor 1

Raw Hit column vs. row: Ladder 5 Sensor 1

__ _"___ _ __- L__
i

W __;:_

| __-_____--__ _ ___ )

MOY UeaN

7 _L_
ol ,_

__

I W

M_ _L__

__- " __ ___- __ _ ___ 1

moy

Mean Column

Column

8876

Entries

1769

Entries

Raw Hit column vs. row: Ladder 5 Sensor 2

Number of raw hits vs. EventID: Ladder 5 Sensor 1

107t

_L_ I 7 ___ 7?0

il _____,_____________8
_7 _r 7 _-_-_-LL-- ___r_h

Uit
moy

1x10°
9 10

EventID (Time)

<slymes>

Column

Page 26



Mean Row

Row

IEntries 7746 l IEntries 1769 l
INumber of raw hits vs. EventID: Ladder 5 Sensor 2I

IHit mean column vs. mean row: Ladder 5 Sensor 2I

T T T T é ]
10 £ ]
% 4
V -
10 E
1 E
1 E
107 :
4x10°
2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 9833 | IEntries 8750 |
I Raw Hit column vs. row: Ladder 5 Sensor 3 I IHit mean column vs. mean row: Ladder 5 Sensor 3I

Mean Row

2 4 6 8 10 12 2 4 6 8 10 12

Column Mean Column
Page 27



<rawhits>

Mean Row

IEntries 1769 I

INumber of raw hits vs. EventID: Ladder 5 Sensor 3I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8888 |

Hit mean column vs. mean row: Ladder 5 Sensor 4

T
-_
e

-
]
]
10

Mean Column

Row

<rawhits>

10

IEntries 996l|

Raw Hit column vs. row: Ladder 5 Sensor 4

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 5 Sensor 4I

><103
5 6 7 8 9 10

EventID (Time)



IEntries 8982 |

Raw Hit column vs. row: Ladder 5 Sensor 5

Row
I
i
N

IIII
i1l
|
Mean Row

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 5 Sensor 5I

Row

<rawhits>

10

4102
7 8 9 10

EventID (Time)

0 3 4 5 6

IEntries 7846 |

Hit mean column vs. mean row: Ladder 5 Sensor 5

o Bl ——
D= e B -
50 - T
—_— et
40 | — — ——
Sy == — _! —

107t

'Iv

i

[

2 4 6 8 10 12
Mean Column

IEntries 7566 |

Raw Hit column vs. row: Ladder 5 Sensor 6

10

M
Vo
.,'.J:'Il'

ol

b

I::II+ i
/

!

107t

R.

il

Column



1769

Entries

6523

Entries

Number of raw hits vs. EventID: Ladder 5 Sensor 6

Hit mean column vs. mean row: Ladder 5 Sensor 6

4102
9 10

8
EventID (Time)

o i ©
—

<suymes>

_;_—__ __17 _1&__

It

_L_-____ __-_
IR BN )

o o o o

© < o™ N

MOY UeaN

10
10‘l

12

10
Mean Column

o
o

6673

Entries

7776

Entries

Hit mean column vs. mean row: Ladder 6 Sensor 1

MOy ueap

T
o o
— — —

: 1 ____4__; _____

_ 1 1
[ Ty

e _________

__-_
moy

Raw Hit column vs. row: Ladder 6 Sensor 1

— N

Mean Column

Column

Page 30



<rawhits>

Mean Row

IEntries 1769 I

INumber of raw hits vs. EventID: Ladder 6 Sensor 1I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7825 |

Hit mean column vs. mean row: Ladder 6 Sensor 2

Mean Column

IEntries 8926 I

Raw Hit column vs. row: Ladder 6 Sensor 2

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 6 Sensor 2I

5

6

4102
7 8 9 10

EventID (Time)



Row

<rawhits>

=

I Raw Hit column vs. row: Ladder 6 Sensor 3 I

2

4 6

8

10 12
Column

INumber of raw hits vs. EventID: Ladder 6 Sensor 3I

5

6

7 8 9 10
EventID (Time)

Entries 9927

10

Entries 1769

'X103

Mean Row

IEntries 8847 l

IHit mean column vs. mean row: Ladder 6 Sensor 3I

| e T T [ T Y [ T [ T T '

Row

2

4 6 8 10 12
Mean Column

IEntries 9879 |

Raw Hit column vs. row: Ladder 6 Sensor 4

Column



Mean Row

Row

IEntries 8798 |

Hit mean column vs. mean row: Ladder 6 Sensor 4

Mean Column

IEntries 8998 |

Raw Hit column vs. row: Ladder 6 Sensor 5

Column

IEntries 1769 |

<rawhits>

10

4 5

INumber of raw hits vs. EventID: Ladder 6 Sensor 4I

4102
7 8 9 10

EventID (Time)

IEntries 7915 |

Hit mean column vs. mean row: Ladder 6 Sensor 5

Mean Row

SHLL Iﬂ‘

Page 33

= =

ml‘l

i

|

-
-k
N

Mean Column



<rawhits>

Mean Row

IEntries 1769 l |Entries 7471|
INumber of raw hits vs. EventID: Ladder 6 Sensor SI I Raw Hit column vs. row: Ladder 6 Sensor 6 I

Row

-
- ] _

] -
_ _-___.

: __-__
: I .
1 e

] B el
-X].OB e R o

0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 6355 | IEntries 1769 |
INumber of raw hits vs. EventID: Ladder 6 Sensor 6I

Hit mean column vs. mean row: Ladder 6 Sensor 6

<rawhits>

b

10

!

i

i
|

[ I‘I‘I [
!

=
- — —
— o —
—-__

4102
0 5 6 7 8 9 10

Mean Column EventID (Time)

!
i‘



6720

Entries

7880

Entries

Hit mean column vs. mean row: Ladder 7 Sensor 1

Raw Hit column vs. row: Ladder 7 Sensor 1

3
3
2
2
n_._._
I 0T E . €
=)
-__ _ _ G
O
1 =
LRI &
=
E;-__L_-___ ”
o O
MOy Uealy
3
=
2
2
i E
I 1 IR
=)
Buri _ _ 5
— @)

o

moy

___

o o
o

F_ -? ‘_
il

i

Raw Hit column vs. row: Ladder 7 Sensor 2

Number of raw hits vs. EventID: Ladder 7 Sensor 1

o o
o™ N

.x103

<slymes>

9 10

8
EventID (Time)

Column

Page 35



Mean Row

Row

IEntries 7708 | IEntries 1769 |
INumber of raw hits vs. EventID: Ladder 7 Sensor 2I

IHit mean column vs. mean row: Ladder 7 Sensor 2I

S /\ -
2 ]
S -
50 v -
10§ =
40
1 .
30 T
20 1 -
107t ,
10 -
Ix10°
2 4 6 8 10 12 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9751| IEntries 8680 |
Raw Hit column vs. row: Ladder 7 Sensor 3 Hit mean column vs. mean row: Ladder 7 Sensor 3
60

Mean Row

50

40

30

20

107!

6 8 10 12

Column Mean Column
Page 36



<rawhits>

Mean Row

IEntries 1769 I IEntries 9764 I
INumber of raw hits vs. EventID: Ladder 7 Sensor 3I I Raw Hit column vs. row: Ladder 7 Sensor 4 I

'><103
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

IEntries 8690 | IEntries 1769 |
INumber of raw hits vs. EventID: Ladder 7 Sensor 4I

Hit mean column vs. mean row: Ladder 7 Sensor 4

I I AN -
— - 2 7
60 | __ _- E -
- E— — -
— i _— E 10 %

— — 5 i

Sl = —— — ]
jom— —_ c — 7 10K —:
| B i
o e -
S [r— | _— ] 4 b

—— . N
20" e — __ 1 -
F | :
—_ — __- 10—1 :
10 p— o S— :
e __ — -

- - -X103
8 10 12 0 5 6 7 8 9 10

Mean Column EventID (Time)



7596

Entries

8623

Entries

Hit mean column vs. mean row: Ladder 7 Sensor 5

Raw Hit column vs. row: Ladder 7 Sensor 5

______ ___ :
(@]
@]
il v ﬁ:
>
._7 P
Cel +
.____ i ;“
_:4__ _____._.
ol _:_
MOY UesN
TN,
.___ 1 :

— _
i

___ _ 4__;

moy

Raw Hit column vs. row: Ladder 7 Sensor 6

Number of raw hits vs. EventID: Ladder 7 Sensor 5

AT

_— ___ _ r_“_ _

moy

™

.x103

<slymes>

9 10

EventID (Time)

Column

Page 38



Mean Row

Row

IEntries 6379 l IEntries 1769 l
INumber of raw hits vs. EventID: Ladder 7 Sensor GI

IHit mean column vs. mean row: Ladder 7 Sensor 6I

— E % -
50 ; v
] 10 =
o1 i
J L .
1071 .
4x10°
2 4 6 8 10 12 O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 8085 | IEntries 6869 |
I Raw Hit column vs. row: Ladder 8 Sensor 1 I IHit mean column vs. mean row: Ladder 8 Sensor 1I

Mean Row
(o))
o

a1
o

N
o

30

20

10

2 4 6 8 10 12

Column Mean Column
Page 39



<rawhits>

Mean Row

IEntries 1769 l

INumber of raw hits vs. EventID: Ladder 8 Sensor 1I

4

5

6

1x103
7 8 9 10

EventID (Time)

IEntries 7804 |

IHiI mean column vs. mean row: Ladder 8 Sensor 2I

4

6

10 12
Mean Column

IEntries 8900 l

I Raw Hit column vs. row: Ladder 8 Sensor 2 I

<rawhits>

10§

2

4 6

8

10 12
Column

IEntries 1769 |

2 3 4

5

6

INumber of raw hits vs. EventID: Ladder 8 Sensor 2I

{x10°
7 8 9 10

EventID (Time)




Row

<rawhits>

I Raw Hit column vs. row: Ladder 8 Sensor 3 I

8

10 12
Column

INumber of raw hits vs. EventID: Ladder 8 Sensor 3I

5

6

Entries 9762 IEntries 8696 l

IHit mean column vs. mean row: Ladder 8 Sensor 3I

Mean Row

=110

2 4 6 8 10 12
Mean Column

[Entries o741}

Raw Hit column vs. row: Ladder 8 Sensor 4

Row

107t

x10° e

7 8 9 10 2 8 10 12

EventID (Time)

Column



Mean Row

Row

IEntries 8685 |

Hit mean column vs. mean row: Ladder 8 Sensor 4

Mean Column

IEntries 8925 |

I Raw Hit column vs. row: Ladder 8 Sensor 5 I

60
10
50
40
1
30
20
107t
10

6 8 10
Column

<rawhits>

Mean Row

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 4I

><103
7 8 9 10

EventID (Time)

IEntries 7762 |

0 1 2 3 4 5 6

Hit mean column vs. mean row: Ladder 8 Sensor 5

o

II I‘ 1|
!

{ \I Itu

i

=
L |
o
"t

Mean Column



<rawhits>

Mean Row

IEntries 1769 l IEntries 7559 l
INumber of raw hits vs. EventID: Ladder 8 Sensor SI I Raw Hit column vs. row: Ladder 8 Sensor 6 I

1 —_— O ——
. — . —
# __ _
| |
E e — [ —
: J_ — —— —
- ]
J [ — - __
i - — —_—=
o — — — I
- | | ||
. O e B
- __ | —
- ﬁ_ ______
3 = —
Jx10 . 4 | [ ——
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 6521| IEntries 1769 |
INumber of raw hits vs. EventID: Ladder 8 Sensor 6I

Hit mean column vs. mean row: Ladder 8 Sensor 6

I /\ ']
b .
60 I 10 é J
] © i

50 ] v
10 I -:
40 ]
1 ]
3 -
2 1 r
107 :
10

8 10 12 0 5 6 7 8 9 10

Mean Column EventID (Time)



6880

Entries

8094

Entries

Hit mean column vs. mean row: Ladder 9 Sensor 1

Raw Hit column vs. row: Ladder 9 Sensor 1

{l i ___,__

MOY UeaN

___ __T

_ 7 _____ﬁ____r_ 7__*

o

moy

i *____h___

_1_

|

N
__-1

E__

y

Mean Column

Column

8781

Entries

1769

Entries

Raw Hit column vs. row: Ladder 9 Sensor 2

Number of raw hits vs. EventID: Ladder 9 Sensor 1

moy

><103

<slymes>

9 10

8
EventID (Time)

Column

Page 44



Mean Row

Row

IEntries 7650 | IEntries 1769 |

Hit mean column vs. mean row: Ladder 9 Sensor 2

INumber of raw hits vs. EventID: Ladder 9 Sensor 2I

/\ )
[ -
=
é -
S -
\Y -
10 -
1 =
- 3
x10
0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9802 | IEntries 8762 |
Raw Hit column vs. row: Ladder 9 Sensor 3 Hit mean column vs. mean row: Ladder 9 Sensor 3

(=Y
o
Mean Row

107t

Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

INumber of raw hits vs. EventID: Ladder 9 Sensor 3I

4103
o0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8653 |

Hit mean column vs. mean row: Ladder 9 Sensor 4

60 L] — I __ —

_— | _—
50 — __ — — R

i f— I
40BN

sl 1
e

!

II ;lll:; 1' IIII

=
o
iR

III III I

”IIII Iflrl

o

6 8 10
Mean Column

<rawhits>

IEntries 9623 I

Raw Hit column vs. row: Ladder 9 Sensor 4

Column

IEntries 1769 |

INumber of raw hits vs. EventID: Ladder 9 Sensor 4I

4102
5 6 7 8 9 10

EventID (Time)



IEntries 8777 | IEntries 7676 |

Raw Hit column vs. row: Ladder 9 Sensor 5 Hit mean column vs. mean row: Ladder 9 Sensor 5

Mean Row

Column Mean Column

IEntries 1769 | IEntries 5985 |
INumber of raw hits vs. EventID: Ladder 9 Sensor 5I I Raw Hit column vs. row: Ladder 9 Sensor 6 I

Row

<rawhits>
1 1 21 llll

.x103
0 3 4 5 6 7 8 9 10
EventID (Time) Column



1769

Entries

5163

Entries

><103

Number of raw hits vs. EventID: Ladder 9 Sensor 6

<suymes>

ﬂ_k_,

Hit mean column vs. mean row: Ladder 9 Sensor 6

A

It __________._______ __

______-

o o
© o

MOY UeaN

o
<

o
o™

o
N

o
—

9 10

8
EventID (Time)

Mean Column

6526

Entries

7649

Entries

Hit mean column vs. mean row: Ladder 10 Sensor

Raw Hit column vs. row: Ladder 10 Sensor 1

[

W

H__.

i

MOy ueap

7_*____

moy

ﬂ_

I

o
o™

| "_4___. ____."_m

i

_mLF

e T

__,___)___

Mean Column

Column

Page 48



<rawhits>

Mean Row

IEntries 1769 I

INumber of raw hits vs. EventID: Ladder 10 Sensor j

1<10°
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7247 |

Hit mean column vs. mean row: Ladder 10 Sensor

Mean Column

IEntries 8217 I

Raw Hit column vs. row: Ladder 10 Sensor 2

10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 10 Sensor 2I

5

6

><103
7 8 9 10

EventID (Time)



Row

<rawhits>

Entries 9774

I Raw Hit column vs. row: Ladder 10 Sensor 3 I

8

10 12
Column

Entries 1769

humber of raw hits vs. EventID: Ladder 10 Sensor 3I

5

6

4102
7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 8668 l

IHit mean column vs. mean row: Ladder 10 Sensor j

4 6 8 10 12
Mean Column

IEntries 9809 |

Raw Hit column vs. row: Ladder 10 Sensor 4

Column



1769

Entries

8702

Entries

umber of raw hits vs. EventID: Ladder 10 Sensor 4|

Hit mean column vs. mean row: Ladder 10 Sensor

3
L
™
S 8
X O .M
Fr .1 TIfrr&r.r.1 LBL IS BN B B ) w
1 1 1mmw
@ e
N
o 8
=
5]
~ s
L
o i ©
—
<suymes>
S
< &
o o
— — —
2
= I
NI E
=)
___ __ __ G
(@)
I c
©
0}
____4 _E il 7 ]

10

_____

,______ 1
_ _

o o o
< ™ N

o o
© o

MOY UeaN

Hit mean column vs. mean row: Ladder 10 Sensor

o o
< o™

o o
© Lo

MOy ueap

10
107t

__ |
_L_;
__L ﬁ

fig

Raw Hit column vs. row: Ladder 10 Sensor 5

moy

[ee]

Mean Column

Column

Page 51



<rawhits>

Mean Row

IEntries 1769 l IEntries 7324 l
humber of raw hits vs. EventID: Ladder 10 Sensor SI I Raw Hit column vs. row: Ladder 10 Sensor 6 I

'><103
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 6304 | IEntries 1769 |
humber of raw hits vs. EventID: Ladder 10 Sensor 6I

IHit mean column vs. mean row: Ladder 10 Sensor EI

N

5 i
60 I 10 = ]

E -
50 v

10}

.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)



6637

Entries

7772

Entries

Hit mean column vs. mean row: Ladder 11 Sensor

Raw Hit column vs. row: Ladder 11 Sensor 1

10
107t

__ ______ __ ____LL __L_-_i__ _;

=; _"__ ___ __“.__ _ ___ ; | 1( =___

MOY UeaN

1 _ __ ey
____ __ _ _ _ __Lﬁ___ _r

o o o
o™ N —

Mean Column

Column

8516

Entries

1769

Entries

Raw Hit column vs. row: Ladder 11 Sensor 2

[Number of raw hits vs. EventID: Ladder 11 Sensor

o o o
Lo <

moy

1 __.. |

o
—

‘__- 7___

><103

<slymes>

9 10

8
EventID (Time)

Column

Page 53



Mean Row

Row

IEntries 1472 l IEntries 1769 l
humber of raw hits vs. EventID: Ladder 11 Sensor 2I

IHit mean column vs. mean row: Ladder 11 Sensor a

Y ]
10 7
Vv
50 e - =
40 o — ]
—— — 1 :
1 E
101 ]
x10°
0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 9648 | IEntries 8600 |
I Raw Hit column vs. row: Ladder 11 Sensor 3 I IHit mean column vs. mean row: Ladder 11 Sensor EI

o0 4

50

Mean Row

40

30 =110

20

10

2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 11 Sensor SI

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8756 |

Hit mean column vs. mean row: Ladder 11 Sensor

Mean Column

Row

<rawhits>

10

IEntries 9826 I

Raw Hit column vs. row: Ladder 11 Sensor 4

10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 11 Sensor 4I

5

6

'><103
7 8 9 10

EventID (Time)



Entries 8732 IEntries 7607 l

I Raw Hit column vs. row: Ladder 11 Sensor 5 I IHlt mean column vs. mean row: Ladder 11 Sensor j

Mean Row

=110
i e _ M PP PR R M P i P BT PR
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column

Entries 1769 IEntries 7278 |

I:umber of raw hits vs. EventID: Ladder 11 Sensor SI I Raw Hit column vs. row: Ladder 11 Sensor 6 I

Row

<rawhits>

10

4413
x10
4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column




IEntries 6207 |

IHit mean column vs. mean row: Ladder 11 Sensor ﬂ

Mean Row

Mean Column

IEntries 7716 |

Raw Hit column vs. row: Ladder 12 Sensor 1

i

I||I

i

l‘j:

F——-:i:_

'f

i

L
o

107t

o

Column

<rawhits>

Mean Row

IEntries 1769 |

bumber of raw hits vs. EventID: Ladder 11 Sensor 6I

0 1. 2 3 4 5 6 7 8

4102
9 10

EventID (Time)

IEntries 6566 |

Hit mean column vs. mean row: Ladder 12 Sensor

Mean Column



<rawhits>

Mean Row

Entries 1769 IEntries 8636 l
INumber of raw hits vs. EventID: Ladder 12 Sensor j I Raw Hit column vs. row: Ladder 12 Sensor 2 I

Ix10° i b 11 e S PR e el R PR [
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 7564 IEntries 1769 |
I:umber of raw hits vs. EventID: Ladder 12 Sensor 2I

IHil mean column vs. mean row: Ladder 12 Sensor EI

A .
2 ]
60 . = -
\Y%
50
110 10} -
40 T .
30 - |
20 1 E
10
1 Jx10°
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Entries 9532 IEntries 8505 l
I Raw Hit column vs. row: Ladder 12 Sensor 3 I IHlt mean column vs. mean row: Ladder 12 Sensor j

2

o

04

C

<

(]

=

=110

P PP i PP PP [— P TP L P e MPI (R
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column

Entries 1769 IEntries 9590 |
I:umber of raw hits vs. EventID: Ladder 12 Sensor 3I I Raw Hit column vs. row: Ladder 12 Sensor 4 I

2 . )
= . @ 60 .
g
v 50
. 40
i =110
] 30 -
r 20 1
7 10
Ix10°
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Page 59



Mean Row

Row

IEntries 8534 | IEntries 1769 |
bumber of raw hits vs. EventID: Ladder 12 Sensor 4I

IHit mean column vs. mean row: Ladder 12 Sensorj

A =
[ -
= _
E
o
v -
10 -
1 -
- 3
x10
10 12 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 8735 | IEntries 7639 |
Raw Hit column vs. row: Ladder 12 Sensor 5 Hit mean column vs. mean row: Ladder 12 Sensor

10

'}
o
Mean Row

-B

107t

L

Column Mean Column



<rawhits>

Mean Row

Entries 1769 IEntries 7555 l
humber of raw hits vs. EventID: Ladder 12 Sensor 5I I Raw Hit column vs. row: Ladder 12 Sensor 6 I

Ix10° e P | PP W | e
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 6434 IEntries 1769 |
I:umber of raw hits vs. EventID: Ladder 12 Sensor 6I

IHil mean column vs. mean row: Ladder 12 Sensor d

N
%) ]
60 . = "
% -

50 v
3 10 10§ r
40 -
30 1 ]

20 .
L -
10 ]
'><103
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)



[Enviesoess]

Raw Hit column vs. row: Ladder 13 Sensor 1 Hit mean column vs. mean row: Ladder 13 Sensor

Mean Row

107t

Column Mean Column

Entries 1769 IEntries 8530 |
I Raw Hit column vs. row: Ladder 13 Sensor 2 I

INumber of raw hits vs. EventID: Ladder 13 Sensor j

Row

<rawhits>

.x103
4 5 6 7 8 9 10
EventID (Time) Column



Mean Row

Row

60

50

40

30

20

10

IEntries 7499 l

IHlt mean column vs. mean row: Ladder 13 Sensor a

Mean Column

IEntries 9760 |

I Raw Hit column vs. row: Ladder 13 Sensor 3 I

4 6 8 10

12
Column

10

IEntries 1769 l

humber of raw hits vs. EventID: Ladder 13 Sensor 2I

<rawhits>

1x10°
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8624 |

IHit mean column vs. mean row: Ladder 13 Sensor j

: 9

T 60

c

®

(]

= 50

- 10

40 ]
30 ]
20 ]
10

2 4 6 8 10 12

Mean Column
Page 63



<rawhits>

Mean Row

IEntries 1769 I IEntries 9586 I
humber of raw hits vs. EventID: Ladder 13 Sensor SI I Raw Hit column vs. row: Ladder 13 Sensor 4 I

Row
3
- o

l 30
20
E 10—1
: 10
.x103
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 8585 | IEntries 1769 |
humber of raw hits vs. EventID: Ladder 13 Sensor 4I

Hit mean column vs. mean row: Ladder 13 Sensor

N
@ i
= i
g
y .
10 -
1 =
.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

10

IEntries 8781| IEntries 7696 |

Raw Hit column vs. row: Ladder 13 Sensor 5

Column

Hit mean column vs. mean row: Ladder 13 Sensor

Mean Row

Mean Column

IEntries 1769 | IEntries 7065 |

humber of raw hits vs. EventID: Ladder 13 Sensor SI

4

5

6

Raw Hit column vs. row: Ladder 13 Sensor 6

Row

7 8 9 10

EventID (Time)

><103

Column



=
o
o
<
I
]
=

Row

IEntries 6053 |

Hit mean column vs. mean row: Ladder 13 Sensor

60 —= ey ==
———
o — = =

l.
!

:

—___ - ___
Lo —
e —

2 4 6 8 10 12

Mean Column

IEntries 7716 |

10

107t

I Raw Hit column vs. row: Ladder 14 Sensor 1I

60

50

40

30

20

10

Column

IEntries 1769 |

bumber of raw hits vs. EventID: Ladder 13 Sensor 6I

<rawhits>

10§

0 1. 2 3 4 5 6 7 8

4102
9 10

EventID (Time)

IEntries 6545 |

Hit mean column vs. mean row: Ladder 14 Sensor

Mean Row

Mean Column



<rawhits>

Mean Row

IEntries 1769 l IEntries 8672 l
INumber of raw hits vs. EventID: Ladder 14 Sensor j I Raw Hit column vs. row: Ladder 14 Sensor 2 I

1x10°
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 7578 | IEntries 1769 |
I:umber of raw hits vs. EventID: Ladder 14 Sensor 2I

IHil mean column vs. mean row: Ladder 14 Sensor EI

N
N :
E -
.
- L .
'X]_O3
0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



[Entries_ss51]

I Raw Hit column vs. row: Ladder 14 Sensor 3 I IHlt mean column vs. mean row: Ladder 14 Sensor j

Mean Row

=110

|| I
D —— e L o 1l M B B D BRI PR
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column

Entries 1769 IEntries 10014 |
I:umber of raw hits vs. EventID: Ladder 14 Sensor 3I I Raw Hit column vs. row: Ladder 14 Sensor 4 I

“ : 9
2 A o
= o 60
v 50
10K T
] 40
] =110
- 30 -
E 20 .
1 10
1x10°
4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Page 68



Mean Row

Row

Entries 8900 IEntries 1769 l
humber of raw hits vs. EventID: Ladder 14 Sensor 4I

IHlt mean column vs. mean row: Ladder 14 Sensorj

N
2 i
= -
% .
V -
10§ r
- 10 :
1 r
‘ :
] P e e e e P O L Y x10
2 4 6 8 10 12 0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Entries 8632 IEntries 7545 |

I Raw Hit column vs. row: Ladder 14 Sensor 5 I IHit mean column vs. mean row: Ladder 14 Sensor j

:
o 60
[y
©
()
= 50
=110
L 40
J 30
f 20
10
P o w0 Y e e R 1
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column

Page 69



<rawhits>

Mean Row

Entries 1769 IEntries 7505 l
humber of raw hits vs. EventID: Ladder 14 Sensor 5I I Raw Hit column vs. row: Ladder 14 Sensor 6 I

3 __
%10 i e e i PRSP [y | [— R o
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 6460 IEntries 1769 |
I:umher of raw hits vs. EventID: Ladder 14 Sensor 6I

IHil mean column vs. mean row: Ladder 14 Sensor d

A .
2 ]
60 . = -
\Y%
50
-110
i 10 -
40 ]
30 - |
20 1 E
10
1 Jx10°
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

IEntries 7801| IEntries 6617 l
I Raw Hit column vs. row: Ladder 15 Sensor 1I IHit mean column vs. mean row: Ladder 15 Sensor 3'

3
60 14
c
©
)
50 10 =
40 1
1
30 .
20
I
10 ]
|
PRI I e T I IR 1
2 4 6 8 10 12
Column Mean Column
IEntries 1769 | IEntries 8905 |
INumber of raw hits vs. EventID: Ladder 15 Sensor j I Raw Hit column vs. row: Ladder 15 Sensor 2 I
2
- @)
1 4
10 E
1 E
- x103
0 3 4 5 6 7 8 9 10
EventID (Time) Column



Mean Row

Row

IEntries 7748 | IEntries 1769 |
bumber of raw hits vs. EventID: Ladder 15 Sensor ZI

Hit mean column vs. mean row: Ladder 15 Sensor

= ' I /\
—— fﬂ -
L] r— I —
‘_— — 10 < -
——— I - L] —_— \V;
- — —_— —
— — — 10 -
- - — e E— ]
— — e i
] 1 i
—— _—h -
- —
— — h
— e o
— — — — -1 ]
I - -
I — I
il : I i
___- L —— P N X103
2 4 6 8 10 12 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9697 | IEntries 8589 |
Raw Hit column vs. row: Ladder 15 Sensor 3 Hit mean column vs. mean row: Ladder 15 Sensor

10

Mean Row

O,IIII rll

6 8 10
Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 15 Sensor SI

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8669 |

Hit mean column vs. mean row: Ladder 15 Sensor

Mean Column

<rawhits>

10

IEntries 9637 I

Raw Hit column vs. row: Ladder 15 Sensor 4

Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 15 Sensor 4I

5

6

4102
7 8 9 10

EventID (Time)



IEntries 8431| IEntries 7394 l

I Raw Hit column vs. row: Ladder 15 Sensor 5 I

Row

o el e B pp—

2 4 6

8

10 12
Column

IHit mean column vs. mean row: Ladder 15 Sensor j

Mean Row

P e o BV 1
2 4 6 8 10 12

Mean Column

IEntries 1769 | IEntries 7375 |

humher of raw hits vs. EventID: Ladder 15 Sensor 5I

<rawhits>

10§

0 3 4 5

6

I Raw Hit column vs. row: Ladder 15 Sensor 6 I

Row

10

107t

7 8 9 10

EventID (Time)

x10°

Column

Page 74



Mean Row

Row

IEntries 6308 l

IHit mean column vs. mean row: Ladder 15 Sensor ﬂ

10

10

107t

12

Mean Column

IEntries 7706 |

I Raw Hit column vs. row: Ladder 16 Sensor 1I

4 6

8

12
Column

<rawhits>

10K

Mean Row

IEntries 1769 l

humber of raw hits vs. EventID: Ladder 15 Sensor GI

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 6548 |

IHit mean column vs. mean row: Ladder 16 Sensor il

Mean Column



<rawhits>

Mean Row

IEntries 1769 l IEntries 8777 l
INumber of raw hits vs. EventID: Ladder 16 Sensor j I Raw Hit column vs. row: Ladder 16 Sensor 2 I

Ix10° P T o PR B T
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 7669 | IEntries 1769 |
I:umher of raw hits vs. EventID: Ladder 16 Sensor 2I

IHil mean column vs. mean row: Ladder 16 Sensor EI

- N -

2 |

60 . = ]
50 v

=110 10§ -:

40 _ ’

30 ’ |

20 - 1 -

10 1

'><103
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



I Raw Hit column vs. row: Ladder 16 Sensor 3 I

=110

2 4

6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 16 Sensor 3I

<rawhits>

10

1x10°
4 5 6 7 8 9 10

EventID (Time)

Entries 9773

Entries 1769

Mean Row

50

40

30

20

10

Row

60

50

40

30

20

10

Page 77

IEntries 8607 l

IHlt mean column vs. mean row: Ladder 16 Sensor j

] — — [ ]
__
| |
— -
|
I i
I -
— — ]
L]
|

4 6 8 10 12
Mean Column

10

IEntries 9685 |

I Raw Hit column vs. row: Ladder 16 Sensor 4I

4 6 8 10 12
Column

10



1769

Entries

8637

Entries

7673

4102
9 10

8
EventID (Time)

Entries

__T_ ___q__ ___r___ 1

Ay | b _____m,_

[ -_ _ __L_ _______

o o o o
©o o < ™ N

<slymei> MOY Ued\

umber of raw hits vs. EventID: Ladder 16 Sensor 4|
Hit mean column vs. mean row: Ladder 16 Sensor

8783

Entries

| E_ __ ______m____u

7
o o
— —

Mean Column

__ _-_____-_ _7_ __ __ e

W Il __L__ ______ﬁ

Hit mean column vs. mean row: Ladder 16 Sensor
Raw Hit column vs. row: Ladder 16 Sensor 5

o
O o < ™
MOY Uea| MOy

Mean Column

Page 78

Column



<rawhits>

Mean Row

IEntries 1769 l IEntries 7564 l
humber of raw hits vs. EventID: Ladder 16 Sensor 5I I Raw Hit column vs. row: Ladder 16 Sensor 6 I

] & 60 ___
T 50:_ —
] 40k
] 30
~ 20F —
7 10:— —
J..n3 .
x10 RS PRI e L . . I
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10
EventID (Time) Column

IEntries 6404 | IEntries 1769 |
I:umher of raw hits vs. EventID: Ladder 16 Sensor 6I

IHil mean column vs. mean row: Ladder 16 Sensor d

A .
I -
60 = ]
g
50 =110 v 1
i 10} .
40 4 ]
30 ; |
20 1 =
10 .
1 Jx10°
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 17 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 1769

INumber of raw hits vs. EventID: Ladder 17 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 17 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 17 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 80



Mean Row

Row

60

50

40

30

20

10

IEntries 0 | IEntries 1769 |

IHit mean column vs. mean row: Ladder 17 Sensor j

bumber of raw hits vs. EventID: Ladder 17 Sensor 2I

Fr T rrrrrrrrrrrrrr1"""1"9 A

- . 2

n - = 10

g ] g

[ - v

3 E 1

5 ] 10

1072

T PR PR BRI BRI BPEPE x10°

2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 9754 | IEntries 8714 |

Raw Hit column vs. row: Ladder 17 Sensor 3

Hit mean column vs. mean row: Ladder 17 Sensor

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 17 Sensor SI

><1O3

o0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8663 |

Hit mean column vs. mean row: Ladder 17 Sensor

6 8 10
Mean Column

'l Illll 'l IIIII-
[ [
o

107t

IEntries 9754 I

I Raw Hit column vs. row: Ladder 17 Sensor 4 I

Row
3
- o

2 4 6 8 10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 17 Sensor 4I

<rawhits>

10

'><103
0 5 6 7 8 9 10

EventID (Time)



Entries 8978 IEntries 7859 l
I Raw Hit column vs. row: Ladder 17 Sensor 5 I IHlt mean column vs. mean row: Ladder 17 Sensor j

Mean Row

P 1, e —— s 1
2 4 6 8 10 12

Column Mean Column

Entries 1769 IEntries 7557 |

I:umber of raw hits vs. EventID: Ladder 17 Sensor SI I Raw Hit column vs. row: Ladder 17 Sensor 6 I

Row

<rawhits>

Jx10°
4 5 6 7 8 9 10

EventID (Time) Column




Mean Row

Row

IEntries 6438 l

IHlt mean column vs. mean row: Ladder 17 Sensor ﬂ

Mean Column

IEntries 8045 |

I Raw Hit column vs. row: Ladder 18 Sensor 1I

Column

IEntries 1769 l

humber of raw hits vs. EventID: Ladder 17 Sensor GI

<rawhits>

4x103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 6851|

IHit mean column vs. mean row: Ladder 18 Sensor I

Mean Row
(@]
o

a1
o

N
o

30

20

10

2 4 6 8 10 12

Mean Column
Page 84



<rawhits>

Mean Row

Entries 1769 IEntries 8662 l
INumber of raw hits vs. EventID: Ladder 18 Sensor j I Raw Hit column vs. row: Ladder 18 Sensor 2 I

Ix10° o BRI e PR i P P ) T
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 7564 IEntries 1769 |
I:umber of raw hits vs. EventID: Ladder 18 Sensor 2I

IHil mean column vs. mean row: Ladder 18 Sensor EI

N .
B -
= -
ol
10 10 r
7 1 -
'x103
2 4 6 8 10 12 0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



IEntries 9737 | IEntries 8576 |

Raw Hit column vs. row: Ladder 18 Sensor 3 Hit mean column vs. mean row: Ladder 18 Sensor

Mean Row

Column Mean Column

IEntries 1769 | IEntries 9982 |
humber of raw hits vs. EventID: Ladder 18 Sensor 3I I Raw Hit column vs. row: Ladder 18 Sensor 4 I

Row

<rawhits>

10§

10

x10° L e O
7 8 9 10 10 12

EventID (Time) Column
Page 86

0 3 4 5 6



Mean Row

Row

IEntries 8900 | IEntries 1769 |

IHit mean column vs. mean row: Ladder 18 Sensorj

bumber of raw hits vs. EventID: Ladder 18 Sensor 4I

N
Z ]
= -
g
5 -
10 r
10 ]
1 E
4x10°
4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 8787 | IEntries 7754 |

Raw Hit column vs. row: Ladder 18 Sensor 5 Hit mean column vs. mean row: Ladder 18 Sensor

th

!
"

10

Mean Row

107t

!

Column Mean Column



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 18 Sensor 5I

1<10°
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 6417 |

Hit mean column vs. mean row: Ladder 18 Sensor

<rawhits>

=Y
o

Mean Column

IEntries 7564 I

Raw Hit column vs. row: Ladder 18 Sensor 6

Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 18 Sensor GI

5

6

4102
7 8 9 10

EventID (Time)



6744

Entries

7930

Entries

Hit mean column vs. mean row: Ladder 19 Sensor

Raw Hit column vs. row: Ladder 19 Sensor 1

o
—

107t

_f__m______"”_____,____,_

i)
W

MOY UeaN

______ ____ _ f_ __-

Sy

i
i

_F-____ _

o o
3
Bom

(i ,_____

Mean Column

Column

8911

Entries

1769

Entries

Raw Hit column vs. row: Ladder 19 Sensor 2

[Number of raw hits vs. EventID: Ladder 19 Sensor

10

_r_-__

o

moy

____

o
o™

107t

1 _

'><103

<slymes>

9 10

EventID (Time)

Column

Page 89



Mean Row

Row

IEntries 7756 l

IHit mean column vs. mean row: Ladder 19 Sensor a

Mean Column

IEntries 9816 |

I Raw Hit column vs. row: Ladder 19 Sensor 3 I

4 6 8 10 12
Column

IEntries 1769 l

humber of raw hits vs. EventID: Ladder 19 Sensor 2I

<rawhits>
1 1 1 lllll 1 1 1 1 10

'><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8710 |

IHit mean column vs. mean row: Ladder 19 Sensor il

Mean Row

2 4 6 8 10 12

Mean Column
Page 90



<rawhits>

Mean Row

Entries 1769 IEntries 10107 l
humber of raw hits vs. EventID: Ladder 19 Sensor 3I I Raw Hit column vs. row: Ladder 19 Sensor 4 I

{x10°
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 9013 IEntries 1769 |
I:umher of raw hits vs. EventID: Ladder 19 Sensor 4I

IHil mean column vs. mean row: Ladder 19 Sensor j

N .
2 .
E -
% .
v .
10 E
10 :
— ] 1 -
i g R S | T | |||y e B '><1O3
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

I Raw Hit column vs. row: Ladder 19 Sensor 5 I

4 6

8

10 12
Column

humber of raw hits vs. EventID: Ladder 19 Sensor 5I

5

6

7 8 9 10
EventID (Time)

Entries 9094

10

Entries 1769

'X103

IEntries 7982 l

IHit mean column vs. mean row: Ladder 19 Sensor j

Mean Row

2 4 6 8 10 12
Mean Column

IEntries 7660 |

I Raw Hit column vs. row: Ladder 19 Sensor 6 I

Row

107t

2 4 6 8 10 12
Column



1769

Entries

6546

Entries

umber of raw hits vs. EventID: Ladder 19 Sensor 6

Hit mean column vs. mean row: Ladder 19 Sensor

.x103

<suymes>

10

J T

_1____

, _____

o
5

MOY UeaN

_a_f

,_r___*

9 10

8
EventID (Time)

12

10
Mean Column

4

6754

Entries

7923

Entries

Hit mean column vs. mean row: Ladder 20 Sensor

Raw Hit column vs. row: Ladder 20 Sensor 1

o

MOy ueap

ﬁ _
1 ___L _: _

__;___Lf__

____ ! ______i_

o o
o™ N

o
—

Mean Column

Column

Page 93



<rawhits>

Mean Row

IEntries 1769 l IEntries 8894 l
INumber of raw hits vs. EventID: Ladder 20 Sensor j I Raw Hit column vs. row: Ladder 20 Sensor 2 I

Ix10°
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 7728 | IEntries 1769 |
I:umber of raw hits vs. EventID: Ladder 20 Sensor 2I

IHil mean column vs. mean row: Ladder 20 Sensor EI

i '
2 -
= -
\%
—110 10 r
- 1 r
I ] 3
ey, — x10
2 4 6 8 10 12 0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



I Raw Hit column vs. row: Ladder 20 Sensor 3 I

2 4 6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 20 Sensor 3I

<rawhits>

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

Entries 9952

10

Entries 1769

Jx10°

IEntries 8745 l

IHlt mean column vs. mean row: Ladder 20 Sensor j

Mean Row

2 4 6 8 10 12
Mean Column

IEntries 10037 |

I Raw Hit column vs. row: Ladder 20 Sensor 4 I

Row

L S SRR e R p— ]
6 8 10 12

Column

1
2

N

Page 95



Mean Row

Row

60

50

40

30

20

10

Entries 8847

IHlt mean column vs. mean row: Ladder 20 Sensorj

=110

|

N

4 6 8 10 12

Mean Column

Entries 9054

I Raw Hit column vs. row: Ladder 20 Sensor 5 I

=110

e T e [

2 4 6 8 10 12
Column

<rawhits>

Mean Row

IEntries 1769 l

humber of raw hits vs. EventID: Ladder 20 Sensor 4I

10§ -
1 -
o ><103
O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7885 |

IHit mean column vs. mean row: Ladder 20 Sensor j

(o2}
o

a1
o

N
o

30

20

10

R e P | e S TS 1
2 4 6 8 10 12

Mean Column

Page 96



<rawhits>

Mean Row

IEntries 1769 I

IEntries 7670 I

humber of raw hits vs. EventID: Ladder 20 Sensor 5I

Raw Hit column vs. row: Ladder 20 Sensor 6

h | ]
- —
_—_— | — “
I
- o —
10 i ——
| : E — —
: I __-
- __ _— |
o [ f— B
- ] —_—
— | e -
"1 — — — — - —
y - — -
b | i =—-
.xlOB =— -‘_-
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 6524 |

IEntries 1769 |

Hit mean column vs. mean row: Ladder 20 Sensor

Mean Column

humber of raw hits vs. EventID: Ladder 20 Sensor GI

/\ -
2 .
< ]
v
10 E
1 E
4x10°
0 5 6 7 8 9 10

EventID (Time)



6719

Entries

7877

Entries

Hit mean column vs. mean row: Ladder 21 Sensor

Raw Hit column vs. row: Ladder 21 Sensor 1

5
S
8
£
c w
- i __- 0. E
=)
_ _ 3
(@)
[ c
@
___ L 7 J $
=
L__ —__4
_-_&__ = __-__ ___-Lz
o
MOY UeaN
3
S
8
=
c w
l il i _ T 0. E
=)
_____ 5
O

1 5_;______:17 __ L
_

i 4
D

moy

Raw Hit column vs. row: Ladder 21 Sensor 2

[Number of raw hits vs. EventID: Ladder 21 Sensor

] _T __. ___ﬁ_ _ _

__-2

moy

™
o
—
X
T

o
—

<slymes>

o
-
o

Column

EventID (Time)

Page 98



Mean Row

Row

IEntries 7843 |

Hit mean column vs. mean row: Ladder 21 Sensor

6 0 —
—
e
50 —
ﬁ
40 e —
- —
30 __ I '—

4 6 8 10

10

107t

12

Mean Column

IEntries 9976 |

Raw Hit column vs. row: Ladder 21 Sensor 3

Column

IEntries 1769 |

bumber of raw hits vs. EventID: Ladder 21 Sensor ZI

<rawhits>

10§

4102
7 8 9 10

EventID (Time)

IEntries 8877 |

0 1 2 3 4 5 6

Hit mean column vs. mean row: Ladder 21 Sensor

Mean Row

Mean Column



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 21 Sensor SI

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8847 |

Hit mean column vs. mean row: Ladder 21 Sensor

Mean Column

IEntries 9897 I

I Raw Hit column vs. row: Ladder 21 Sensor 4 I

Row
3
. Ol
o

50
40

1
30
20

107t
10

2 4 6 8 10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 21 Sensor 4I

4102
0 5 6 7 8 9 10

EventID (Time)
Page 100



Row

<rawhits>

10§

IEntrieS 9041| IEntries 7954 |

Raw Hit column vs. row: Ladder 21 Sensor 5

Column

Hit mean column vs. mean row: Ladder 21 Sensor

Mean Row

Mean Column

IEntries 1769 | IEntries 6454 |

humber of raw hits vs. EventID: Ladder 21 Sensor SI

4

5

6

Raw Hit column vs. row: Ladder 21 Sensor 6

Row

10

107t

7 8 9 10

EventID (Time)

><103

Column

Page 101



1769

Entries

.x103

5587

Entries

umber of raw hits vs. EventID: Ladder 21 Sensor 6

o
-

<suymes>

_ i ___a__

Hit mean column vs. mean row: Ladder 21 Sensor

| | __L_
_T___r_ _
Bomcmms_

0

o o
< o™

W

o
N

i

9 10

8
EventID (Time)

Mean Column

6690

Entries

7844

Entries

Hit mean column vs. mean row: Ladder 22 Sensor

Raw Hit column vs. row: Ladder 22 Sensor 1

o o

MOy ueap

moy

il __ __ _____—-____b

;‘_____ _“_-7__ __

_,_ | i I

it
____ —r: 1__ _

Mean Column

Column

Page 102



<rawhits>

Mean Row

Entries 1769 IEntries 9002 l
INumber of raw hits vs. EventID: Ladder 22 Sensor j I Raw Hit column vs. row: Ladder 22 Sensor 2 I

1x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

Entries 7818 IEntries 1769 |
I:umber of raw hits vs. EventID: Ladder 22 Sensor 2I

IHil mean column vs. mean row: Ladder 22 Sensor EI

N -
2 ]
60 . = -
% -
\% -

50 10
- 10 r
40 I .
30 i ]
20 1 r
10 .

1 Jx10°

2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Page 103



Row

<rawhits>

10§

IEntries 9982 |

I Raw Hit column vs. row: Ladder 22 Sensor 3 I

10

107t

= 6 8 10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 22 Sensor 3I

><103
7 8 9 10

EventID (Time)

3 4 5 6

Mean Row

Row

Page 104

IEntries 8897 |

Hit mean column vs. mean row: Ladder 22 Sensor

il

Mean Column

IEntries 8140 |

Raw Hit column vs. row: Ladder 22 Sensor 4

10

107

Column



Mean Row

Row

IEntries 7243 l IEntries 1769 l
humber of raw hits vs. EventID: Ladder 22 Sensor 4I

IHit mean column vs. mean row: Ladder 22 Sensorj

410 £ |
: g -
b \Y
7 10H -
91 i
d 1 -
107
1x103
2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 9130 | IEntries 7907 |
I Raw Hit column vs. row: Ladder 22 Sensor 5 I IHit mean column vs. mean row: Ladder 22 Sensor EI

Mean Row
(o))
o

a1
o

N
o

30

20

10

2 4 6 8 10 12

Column Mean Column
Page 105



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 22 Sensor 5I

'><1O3
5 6 7 8 9 10

EventID (Time)

IEntries 6551|

Hit mean column vs. mean row: Ladder 22 Sensor

Mean Column

<rawhits>

|

0

Page 106

| IIIIIII‘II IIII

IEntries 7711|

Raw Hit column vs. row: Ladder 22 Sensor 6

.1‘

-:-—_-—
- —!:

':
|

10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 22 Sensor GI

5

6

><103

7 8 9 10

EventID (Time)



6762

Entries

7975

Entries

Hit mean column vs. mean row: Ladder 23 Sensor

Raw Hit column vs. row: Ladder 23 Sensor 1

)

a— 7_-__ _-— Hit
i [}
,.: Lk i b _

_—& —-—_———_—-L
!
o) o =)
<

MOY UeaN

) (_________"__;

) __________ _,

LA

moy

Mean Column

Column

9082

Entries

1769

Entries

Raw Hit column vs. row: Ladder 23 Sensor 2

[Number of raw hits vs. EventID: Ladder 23 Sensor

o o o
Lo <

moy

o
o™

: _____M

A |
o o
N —

><103

<slymes>

9 10

EventID (Time)

Column

Page 107



Mean Row

Row

IEntries 7929 | IEntries 1769 |
bumber of raw hits vs. EventID: Ladder 23 Sensor ZI

Hit mean column vs. mean row: Ladder 23 Sensor

A =
[ -
= _
E
o
v; -
10§ -
1 -
- 3
x10
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10122 | IEntries 8985 |
Raw Hit column vs. row: Ladder 23 Sensor 3 Hit mean column vs. mean row: Ladder 23 Sensor
5 - — —
I
[ T 10
g — —
= — —

40

1
III III II‘|

11 ﬁ”|'|||

107t

II I
i

& 110

6 8 10

Column Mean Column
Page 108



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 23 Sensor SI

Row

2 3 4 5 6 7 8 9 10

EventID (Time)

><1O3

IEntries 8801|

Hit mean column vs. mean row: Ladder 23 Sensor

Mean Column

<rawhits>

10

Page 109

IEntries 9827 I

Raw Hit column vs. row: Ladder 23 Sensor 4

10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 23 Sensor 4I

5

6

><103

7 8 9 10

EventID (Time)



Row

<rawhits>

I Raw Hit column vs. row: Ladder 23 Sensor 5 I

4 6

8

10 12
Column

humber of raw hits vs. EventID: Ladder 23 Sensor 5I

5

6

Entries 9175

10

Entries 1769

x10°

7 8 9 10
EventID (Time)

Mean Row

Row

Page 110

IEntries 8039 l

IHit mean column vs. mean row: Ladder 23 Sensor j

4 6 8 10 12
Mean Column

IEntries 7811|

Raw Hit column vs. row: Ladder 23 Sensor 6

12
Column



1769

Entries

6639

Entries

umber of raw hits vs. EventID: Ladder 23 Sensor 6

Hit mean column vs. mean row: Ladder 23 Sensor

'><1O3

<suymes>

_____-_ LR 1
* _____W ________”_

10

o o
© o

MOY UeaN

o
<

__ __-__ __;__7::

h__

9 10

8
EventID (Time)

12

10
Mean Column

1
N
— 1
1
o
i

6701

Entries

7858

Entries

Hit mean column vs. mean row: Ladder 24 Sensor

Raw Hit column vs. row: Ladder 24 Sensor 1

M

r ___ _ _"‘_

o o
Lo

MOy ueap

o o
[Te)

moy

i
Nt ol

o
< ™ N

- [ 14__ __
g

_M_______._____ __

Mean Column

Column

Page 111



<rawhits>

Mean Row

IEntries 1769 I IEntries 8741I

INumber of raw hits vs. EventID: Ladder 24 Sensor j

Raw Hit column vs. row: Ladder 24 Sensor 2

10

2 3 4 5 6 7 8 9 10

EventID (Time)

><1O3

Column

IEntries 7644 | IEntries 1769 |

Hit mean column vs. mean row: Ladder 24 Sensor

Mean Column

humber of raw hits vs. EventID: Ladder 24 Sensor 2I

<rawhits>

[y
o

><103
0 5 6 7 8 9 10

EventID (Time)
Page 112



Row

<rawhits>

IEntries 7889 |

Raw Hit column vs. row: Ladder 24 Sensor 3

1 '

10

]ru

10

107t

Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 24 Sensor 3I

3 4

5

6

4102
7 8 9 10

EventID (Time)

IEntries 7038 |

Hit mean column vs. mean row: Ladder 24 Sensor

=
/o)
o
<
I
]
=

i
|II

#

F.: ':'. i

Mean Column

IEntries 9877 |

Raw Hit column vs. row: Ladder 24 Sensor 4

Row

10

107

||

12

Column
Page 113



1769

Entries

8818

Entries

umber of raw hits vs. EventID: Ladder 24 Sensor 4|

Hit mean column vs. mean row: Ladder 24 Sensor

7764

o
—

1
i
! __

4102
9 10

8
EventID (Time)

Entries

__r____ l
_______7_5_-“__ —_

el _ﬁ___

o
<

N

1

o

* ’
__8

— ©

I

4

Hit mean column vs. mean row: Ladder 24 Sensor

o o
© Lo

<slymei> MOY Ued\

8840
10
107t

Entries

it ..___

MOy Ues\ MOy

Mean Column

_l__r_J_ —_7__— _o
J-_ _ﬁ __
__ __ F_ LIl

o
—

___ 71__ Il

Raw Hit column vs. row: Ladder 24 Sensor 5

Mean Column

Column

Page 114



<rawhits>

Mean Row

IEntries 1769 I

humber of raw hits vs. EventID: Ladder 24 Sensor 5I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 6250 |

Hit mean column vs. mean row: Ladder 24 Sensor

Mean Column

IEntries 7293 I
Raw Hit column vs. row: Ladder 24 Sensor 6

60 l10

Row

50 ]
40

1
30
20

107t
10

2 4 6 8 10 12
Column

IEntries 1769 |

humber of raw hits vs. EventID: Ladder 24 Sensor GI

<rawhits>

100K

4102
0 5 6 7 8 9 10

EventID (Time)
Page 115



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115


